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Seat
No.
S.Y. B.Com. Examination, 2013
BUSINESS STATISTICS
Special Paper — |
(New 2008 Pattern)
Time : 3 Hours Max. Marks : 80
N.B.: 1) Allquestionsarecompulsory.
i) Figures to the right indicate full marks.
i) Use of calculator and statistical tables is allowed.
1. A) Attemptany four of the following : (2 each)

a) Variance of a mesokurtic distribution is 4. Find p,.
b) Explain the uses of time series.

c) Define extrapolation.

d) What is an unbalanced assignment problem ?

e) Define independence of two attributes.

f) Write dual of the following LPP :
Maximize Z = 5x; + 3X,
Subjectto, 3x;+2X,<6

3x1+x254, X1 xzzo.

P.T.O.
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B) Attemptany two of the following : (6 each)

a) Findthe initial basic feasible solution of the following transportation problem
by North-West corner method. Also find its cost.

W, A W, W, Capacity
F 19 30 50 10 7
F, 70 30 40 60 9
F, 40 8 70 20 18
Demand 5 8 7 14

b) The first four moments of a distribution about the origin are 1, 4, 10 and 46
respectively. Obtain the various characteristics of the distribution on the
basis of this information. Comment upon the nature of the distribution on
the basis of skewness and kurtosis.

c) Calculate three yearly moving averages for the following data relating to
the number of beds occupied in a certain hospital during twelve months of

ayear.

Months Jan | Feb | Mar | Apr | May | June | July Aug Sept | Oct | Nov | Dec
No.of beds | 50 | 56 | 53 | 52 | 55 60 65 | 73 67 |45 | 55 | 60
2. Attemptany two of the following : (8 each)

a) Use simplex method to solve the following LPP.
Maximize Z = 3x, + 2X, + 5X,
Subject to the constraints :
X+ X, +X, < 9
2x1 + 3x2 + 5x3 <30
2X, =X, — X, <8

Xps Xpy Xy > 0
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b) With a view to determine meteorological factors which give rise to significant

variation in yield per acre of crop, the observations on the following variables

were recorded

Y, : Yield in kilograms

Y, : Rainfall in mm

Y, : Maximum temperature in °F.

The results obtained were as follows :

Y, =103.9214, Y, =93.9714, Y, = 99.7357

6,=24.4492, 6, =45.4930, o4 = 2.9315

Y1p =0.4104 , ;3 = —0.7357 , y,5 = —0.2326

i) Obtain the equation of plane of regression of Y, on Y, and Y.

ii) Estimate Y, whenY, =98 mmand Y,=90 °F.

c) From the following data, find f (7.5) using Newton’s method.

fx) 1 | 8 | 27 64 | 125|216

343

512




[4369] — 211

3. Attemptany two of the following :

a) Using Lagrange’s Interpolation Formula find f (5). Given that

X f (x)

2
4
8
16
128

N~ B~ W N P

b) i) Obtain the dual of the following LPP.

Maximize Z = 2x1 + 3x2 + 4x3

Subject to, 3X, —2X, <41

2X, + X, + X, <35

2x2 + 3x35 30, Xps Xop X5 2 0

(8 each)

if) From the data given below, calculate Yule’s coefficient of association between

weight of children and their economic condition and interpret it.

Poor children Rich children
Below normal weight 75 23
Above normal weight 5 42
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c) A firm produces x units of items per week at a total cost of

X3 2
Rs. ?—x +5Xx+6.

Find :

1) The average cost.

i) The average variable cost.
lii) The average fixed cost.

Iv) The marginal average cost.

4. Attemptany two of the following :

[4369] — 211

(8 each)

a) Find the initial basic feasible solution of the following transportation problem

by VAM.
X Y Z Supply
A 11 21 16 14
B 7 17 13 26
C 11 23 21 36
Demand 18 28 25

b) 1) Name the four components of a time series. Explain any one of them.

i) Define:
l) Ultimate class frequencies.
[I) Break even point.
[11) Marginal cost.

I\VV) Costfunction.
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c) From the following information calculate G.F.R. and T.F.R.

Age group | Female population ('000) Not;i(r)tfh!ve
15 - 19 32 800
20-24 30 3420
25 - 29 28 4200
30- 34 26 2860
35-39 24 1920
40 - 44 29 660
45 - 49 18 .

5. Attemptany two of the following :

(6 each)

a) Estimate trend by fitting a straight line equation for the following series.

Year

1993

1994

1995

1996

1997

Sales (in '000 Rs.)

35

56

79

80

40

b) A company has to assign five jobs to five workers. The cost matrix is given

below.
Jobs
I Il i v \%
Workers
A 32 38 40 28 40
B 40 24 28 21 36
C 41 27 33 30 37
D 22 38 41 36 36
E 29 33 40 35 39

Find an optimal assignment for minimization of cost.
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c) Compute the crude and standardized death rates in two cities from following
data and find out which population is healthier. Take city B as the standard

population.
City A City B
Age
Population | Deaths | Population | Deaths
Under 5 16,000 176 5,000 130
5-40 50,000 250 27,000 162
40 - 75 1,20,000 840 62,000 527
Above 75 14,000 910 6,000 420

B/1/13/510






Total No. of Questions—35] [Total No. of Printed Pages—2

Seat

No. [4369]-201

S.Y. B.Com. EXAMINATION, 2013
BUSINESS COMMUNICATION
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is listening ? Explain the principles and barriers of good

listening. [16]

2. Explain in detail the techniques of an interview. [16]
Or

Explain the structure of business letter. [16]

3. (A) Texture Paints Limited, Satpur, Nashik wish to place an order
with Asian Paints Limited, Hadapsar, Pune. Draft an order
letter for purchasing of different types of colour paints.[8]

(B) Draft a letter on behalf of Tata Motors Limited, Pune to its

shareholders for intimating the issue of rights equity shares. [8]

P.T.O.



(A)

(B)

(a)
()
(c)
(d)
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Or

Write an application letter in response to the following

advertisement : [8]
WANTED

Post : Chief Account Officer

Qualification : Chartered Accountant

Package : Rs. 12,00,000 p.a.

Send your application letter to the Recruitment Officer of Sandvik
Limited, Pune-Mumbai Road, Pune.

Bharat Forge Limited, Mundhawa, Pune received an enquiry
as to the financial standing of M/s. Ajit & Co., Nashik from
M/s. Suresh & Co., Kothrud, Pune. Write a favourable reply

to the above status enquiry. [8]

4, What is Annual General Meeting ? Prepare the minutes of an Annual
General Meeting of Sudharaj Chemicals Limited, Pune. [16]
5. Write short notes on (any fwo) : [16]

Advantages and disadvantages of E-mail
Advantages of Internet
Types of Websites

Contents and qualities of Notice.
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Seat

[4369]-202

S.Y. B.Com. EXAMINATION, 2013
CORPORATE ACCOUNTING
(2008 PATTERN)
¢ Three Hours Maximum Marks : 80
:— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(zzz1) Use of calculator is allowed.

(A) Fill in the blanks (any five) : [10]

(i) A part of called up capital which has not been paid by

shareholders is termed.........cccooovviiiiiiiiiiinninnnnn.. and calls

amount received in advance from shareholders is termed
ASuiieeeeeeereeeeeerrennen .

(ii) General expenses are apportioned on the basis of................

ratio and distribution expenses are apportioned on the

basis Of..ccovevenvenennnnn.. ratio.

P.T.O.
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(ii1)

(iv)

(v)

(vi)

(vii)

Accounting Standard (AS)-14 deals with........................ and

Accounting Standard (AS)-26 deals with......cccccceeeeeee. .

Two or more liquidations and one formation takes place

incase of.......coovvvveenen.n. and one liquidation and no formation

takes place in case of.................... .

Minority interest is to be recorded in the....................... side

and Goodwill is to be recorded in the.................... side of

consolidated Balance Sheet.

Winding up of a company by the creditors or members

without any intervention of the tribunal is known as................

winding up and with any intervention of the tribunal is

known as......ccccceeeieiiennns winding up.

Profits earned by the subsidiary company after the date

of purchase of shares by the holding company are called

AS.erireerrriiieeeeennn profits and share premium of subsidiary
company should always be treated as............. profits.
2



(B)

Write short notes on (any fwo) : [14]
(1)  Accounting Standard (AS)-2

(2) Forfeiture of shares

(3) Amalgamation of company

(4) Scheme of Capital Reduction

(5) Holding and Subsidiary Company.

The Galaxy Ltd. Ahmednagar has an authorised and subscribed capital

of Rs. 80,00,000 divided into equity shares of Rs. 100 each. From

the following balances, which appear in the books of the company

as on 31st March, 2011, prepare :

(@)
(b)
(c)

Trading Account
Profit and Loss Account

Profit and Loss Appropriation Account

(d) Balance Sheet as on that date, in the form prescribed under

the Companies Act, 1956.

Trial Balance
As on 31st March, 2011

Particulars Debit Credit
Rs. Rs.
Land and Building 3,40,000 —
Plant and Machinery 6,60,000 —
Loose Tools 40,000 —
[4369]-202 3 P.T.O.



Preliminary Expenses 20,000

Furniture 29,000
Calls in Arrears 6,000
Cash in hand 2,000

5% Government Bonds

(Face value Rs. 40,000) 36,000
Bills Receivable 58,000
Goodwill 36,000
Motor Vehicles 40,000
Sundry Debtors 83,000
Interim Dividend 18,000
Repairs 3,000
Purchases 9,60,000
Returns Inward 28,000
Advertisement 10,000
Audit Fees 4,000
Carriages outwards 15,000
Wages 92,000
Insurance 20,000
Stock (1-4-2010) 1,90,000

[4369]-202 4



General Expenses 17,000

Debenture Interest (Less Tax at 30%) 8,400

Share Capital —

Sundry Creditors -

Reserve Fund —

Profit and Loss Account (1-4-2010) —

Returns Outward —

Sales —_

6% Debentures of Rs. 100 each —

Bank Overdraft —

8,00,000

1,20,000

60,000

35,400

20,000

12,30,000

4,00,000

50,000

27,15,400

27,15,400

You are required to consider the following adjustments :

(@) Stock as on 31st March, 2011 Rs. 1,80,000.

(b) Create reserve for bad debts at 5% on sundry debtors.

(c) Provide depreciation—plant and machinery at 5%, furniture at

10%, loose tools at 15% and motor vehicles at 20%.

[4369]-202 5
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(d)
(e)

()

@)

(h)

(2)

Prepaid Insurance Rs. 2,000.

Reserve fund to be increased by Rs. 10,000.

Directors declared on 31-12-2010 an interim dividend for six
months ending 30-9-2010 at the rate of 3%.

Wages outstanding Rs. 3,000.

Interest on debentures for 6 months outstanding.
Preliminary expenses written off at 25%. [14]

Or

Landmark Ltd. issued for public subscription 2,000 equity shares

of Rs. 100 each at a premium of 5% payable as follows :

On Application Rs. 30 per share

On Allotment Rs. 30 per share (including premium)
On First call Rs. 30 per share

On Final call Rs. 15 share

Applications were received for 2,200 equity shares. 2,000 equity shares

were allotted to the applicants, the remaining applications for 200

equity shares were rejected and the application money thereon was

refunded.

[4369]-202



All the amounts were received except Mr. Ashok to whom 100 equity
shares were allotted. He failed to pay the amounts due on first
and final call. These shares were subsequently forfeited. The forfeited
equity shares were sold to Mr. Sachin as fully paid at Rs. 80 per
share.
Pass necessary journal entries required to record the above transactions
in the books of Landmark Ltd. [14]
3. (A) Ajanta Ltd. was incorporated on 1st August, 2010 to take over
the running business from 1st April, 2010. The following is
the Profit and Loss Account for the year ended 31st March,
2011 :
Profit and Loss Account

For the year ended 31st March, 2011

Dr. Cr.
Particulars Rs. Particulars Rs.
To Rent and Taxes 12,000 By Gross Profit B/D 1,55,000
To Discount on sales 3,500 By Interest on Investment 2,500
To Insurance 3,000

To Discount on issue
of shares 3,000

To Electric Lighting 2,400
[4369]-202 7 P.T.O.



To Commission 6,000

To Staff Salaries 36,000
To Carriage 3,000
To Sundry Expenses 7,500

To Reorganisation Exp. 4,300
To Sales Promotion Exp. 4,000
To Bank Interest 1,500
To Irrecoverable Debts 2,000

To Discount on issue of

Debentures 6,300

To Telegram Charges 3,000

To Net Profit C/D 60,000
1,57,500 1,57,500

The following details are also made available :
(1) The total turnover for the year ended 31st March, 2011
was as follows :
e Cash sales Rs. 1,29,000
e (Credit sales Rs. 3,71,000
of which Rs. 2,00,000 were for the period upto 31st July,

2010.

[4369]-202 8



(B)

(2) Investments were taken over by the company from the
vendors as a part of purchase consideration.
(3) Sales promotion expenses were directly proportionate to
the turnover of the company.
Ascertain the profits earned prior to and post incorporation
period. Also state very clearly the amount of profit available
to write down goodwill. [8]
The following are the Balance Sheets of two companies as
on 31st March, 2011 :
Balance Sheets

As on 31st March, 2011

Liabilities AB Ltd. CD Ltd.

Rs. Rs.

[4369]-202

Equity Share Capital :

Shares of Rs. 10 each 10,00,000 5,00,000
General Reserve on 1-4-2010 1,00,000 1,00,000
Profit and Loss A/c on 1-4-2010 50,000 30,000
Profit for the year 2010-11 60,000 40,000
Sundry Creditors 70,000 50,000
Bills Payable 10,000 5,000
Total 12,90,000 7,25,000

9 P.T.O.
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Assets AB Ltd. CD Ltd.
Rs. Rs.
Land and Building 2,00,000 1,50,000
Machinery 3,00,000 3,00,000
Stock 75,000 50,000
Sundry Debtors 50,000 60,000
Investment at Cost Shares
in CD Ltd. 5,00,000 —
Bills Receivable 10,000 5,000
Cash at Bank 1,55,000 1,60,000
Total 12,90,000 7,25,000

(1) AB Ltd. acquired 40,000 equity shares of CD Ltd. on

1st April, 2010.

(2) Bills Receivable of AB Ltd. includes Rs. 3,000 accepted

by CD Ltd.

(3) Sundry debtors of AB Ltd. includes Rs. 10,000 due from

CD Ltd.

(4) Stock of CD Ltd. includes goods purchased from AB Ltd.

for Rs. 30,000 which were invoiced by AB Ltd. at profit

of 25% on the invoice price.

Prepare a consolidated Balance Sheet of AB Ltd. and its

subsidiary CD Ltd. as on 31st March, 2011, giving the necessary

workings.

10

[14]



4, (A) The following is the Balance Sheet of Kiran Engineering Co.
Ltd. as on 31st March, 2011 :
Balance Sheet

As on 31st March, 2011

Liabilities Rs. Assets Rs.
Share Capital : Goodwill 1,68,000
1,500, 8% Preference Land and Building 3,27,000
Shares of Rs. 100 each Plant and Machinery  1,35,000
fully paid 1,50,000 Furniture 15,000
3,000 equity shares Office Equipment 30,000
of Rs. 100 each Rs. 80 Stock 1,48,500
paid up 2,40,000 Debtors 1,27,500
4,500 equity shares Bills Receivable 33,000
of Rs. 100 each Rs. 70 Cash-in-hand 12,000
paid up 3,15,000 Profit and Loss A/c 1,05,000
8% Debentures
(having a floating
charge on all assets) 1,50,000
Outstanding Debenture
Interest 6,000
Creditors 2,40,000
11,01,000 11,01,000

[4369]-202 11 P.T.O.
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The company went into voluntary liquidation as on above Balance

Sheet date :

(2)

(i1)

(4i1)

(iv)
(v)
(vi)

Preference dividend was in arrears for last three years
and it was to be returned before returning equity share
capital.

Sundry creditors include a loan from bank of Rs. 60,000
secured on the hypothecation of plant and machinery.
Sundry creditors also include preferential creditors of
Rs. 15,000.

The liquidator realised the assets as follows :

Land and Building Rs. 3,22,500, Plant and machinery
Rs. 75,000, Office equipment Rs. 19,500, Furniture
Rs. 12,000, Stock Rs. 1,05,000, Debtors Rs. 90,000 and
Bills Receivable Rs. 21,000.

Legal charges on liquidation amounted to Rs. 1,500.
The liquidation expenses Rs. 3,900.

The liquidator’s remuneration was fixed at Rs. 1,500 plus
2% on sale of assets excluding cash plus 4% on the amount
distributed to unsecured creditors including preferential

creditors.

(vii) The liquidator made payment on 30th June, 2011.

Prepare Liquidator’s Final Statement of Accounts. [10]

12



(B)

The following is the balance sheet of Sai Ltd. as on 31st

March, 2011 :
Balance Sheet
As on 31st March, 2011
Liabilities Rs. Assets Rs.
Share Capital : Goodwill 70,000
4,000 Equity shares Land and Building 1,50,000
of Rs. 100 each 4,00,000 Plant and Machinery 3,50,000
3,000, 8% Preference Patents 20,000
Shares of Rs. 100 each  3,00,000 Stock 2,20,000
Profit prior to Sundry Debtors 1,00,000
Incorporation 10,000 Cash at Bank 5,000
4% Debentures 3,00,000 Preliminary Expenses 21,000
Sundry Creditors 2,00,000 Profit and Loss A/c 2,74,000
12,10,000 12,10,000

[4369]-202

The following scheme of reconstruction was duly approved :

(2)

8% preference shares be converted into 9% preference

shares, the amount being reduced by 30%.

(i)
each.

(ii1)
13

Equity shares be reduced to fully paid shares of Rs. 50

Land and Buildings be appreciated by 20%.

P.T.O.



(iv) The debentureholders are agreeable to have their claims
reduced by 20%.
(v)  All intangible assets and fictitious amounts including patents
written off, utilise profit prior to incorporation if necessary.
Pass the Journal Entries in the books of Sai Ltd. and draw
a Balance Sheet. [10]
Or
The balance sheet of Kavita Ltd. and Savita Ltd. as on 31-3-2011

is as follows. A new company was formed called Godawari Ltd. for

purchasing the business of the above two companies as on that

date :
Balance Sheet
as on 31-3-2011
Liabilities Kavita Ltd. | Savita Ltd.
Rs. Rs.
Share Capital :
1,500 shares of Rs. 10 each 15,000 —
800 shares of Rs. 10 each — 8,000
General Reserve 8,000 —
Profit and Loss 2,000 2,000
5% Debentures — 6,000
Creditors 7,500 3,200
32,500 19,200

[4369]-202 14



Assets Kavita Ltd. | Savita Ltd.
Rs. Rs.
Building 10,500 6,000
Machinery 2,500 1,500
Motor Vehicles 1,000 —
Stock 6,000 7,800
Debtors 8,200 2,100
Cash 4,300 1,800
32,500 19,200

The following are the terms of purchase of the business :

(@) Goodwill of Kavita Ltd. and Savita Ltd. is to be valued at
Rs. 8,000 and Rs. 3,000 respectively.

(b) All the assets and liabilities of Kavita Ltd. are to be taken
over at their book values except Motor Vehicle which is valued
at Rs. 3,000.

(c) All the assets of Savita Ltd. are taken over at their book

values except Debtors and cash but not the liabilities.

[4369]-202 15 P.T.O.



(d) The Debentures of Savita Ltd. are to be discharged at a premium
of 5% by issued them 9% Debentures of Godawari Ltd. as
part payment of purchase consideration.

(e)  The balance of purchase price to Savita Ltd. and entire purchase
price to Kavita Ltd. is paid in Rs. 10 fully paid equity shares
of Godawari Ltd.

You are required to prepare

(1)  Realisation Account, Shareholders Account and Godawari Ltd.
Account in the books of Kavita Ltd.

(ii) Opening journal entries and Balance Sheet of Godawari Ltd.

as on 31-3-2011.

[4369]-202 16



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4369]-203

S.Y. B.Com. EXAMINATION, 2013
BUSINESS ECONOMICS
(Macro)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Draw neat diagrams wherever necessary.

1. Explain the scope and significance of macro-economics. [16]
2. Define money. Explain the various functions of money. [16]
Or

Explain the Fisher’s Quantity Theory of Money. [16]
3. Answer in brief : [16]
(A) Explain Say’s law of Market. [8]
(B) Explain the circular flow of Income with diagram. [8]
Or
(A) Explain the Demand-pull Inflation. [8]
(B) Explain the determinants of consumption function. [8]

P.T.O.



4, Define Trade cycle. Describe the phases of trade cycle.

5. Write short notes on (any @wo ) :
(1) Nature and scope of Public Finance
(2) Principle of Acceleration
(3)  Philip’s curve

(4) Qualitative credit control.

(WS ®aial)
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No. [4369]-204

S.Y. B.Com. EXAMINATION, 2013
PRINCIPLES AND FUNCTIONS OF MANAGEMENT
(Business Management)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks allotted to the

question.

1. Explain the meaning and nature of the term ‘management’. Describe

various challenges before managers. [16]

2. Discuss the modern Indian Economic Thoughts given by Mahatma

Gandhi, Dr. B.R. Ambedkar and Pandit Jawaharlal Nehru. [16]

Or
(A) Explain various techniques of forecasting. [8]
(B) Explain the process of departmentation. [8]
3. (A) State the principles of communication. [8]
(B) Describe various Leadership qualities. [8]

P.T.O.



Or
(A) Define control. Explain the characteristics of control. [8]

(B) Explain the various principles of co-ordination. [8]

4, What is Motivation ? State the characteristics and importance of

motivation. [16]

5. Write short notes on (any fwo) : [16]
(a) F.W. Taylor’s Scientific Management Approach
(b) Principles of Direction
(¢) Sources of Recruitment

(d) Management of change.

(A0S ®UI)
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Seat

No. [4369]-205

S.Y. B.Com. EXAMINATION, 2013
ELEMENTS OF COMPANY LAW
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(ii) Al questions carry equal marks.

1. Define “Company”. Explain in detail the types of companies. [16]

2. Define ‘Memorandum of Association’. Explain the various clauses of
‘Memorandum of Association’. [16]
Or
What is meant by Allotment of Shares ? Explain the procedure
of Allotment of Shares. [16]

3. (A) What are the statutory provisions regarding the buy-back of
shares ? [8]
(B) Explain the secretarial functions relating to compromise. [§]
Or
(A) Explain the concept “Directors Identification Number” (DIN). [§]
(B) State the duties of the liquidator in compulsory winding-up. [8]

P.T.O.



4, Explain in detail the secretarial functions regarding Extraordinary

General Meeting of the company. [16]

5. Write short notes on (any fwo) : [16]
(A) Duties of Directors
(B) Distinction between Managing Directors and Manager
(C) Whole Time Director

(D) Minority Protection.

(W& T UIR)
d% : dF a™ THUT 0T ;80
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3. (31) YIT=A UAGRGT dEdedl HRGYR W{el v ? [8]
() deders AeHucyld faeuigsl w18 T . [8]
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fepar

(37) ‘Tuee dd wHh’  (DIN) HehoUdl T2 . [8]

() T HIN HHMAHES fausihr=l shded | [8]

4,  Hudrem fou gaHYrRer geaed  faeuidEt i it TS . [16]

5. 9eRd du four (FveEd @|) [16]

(37) AR hasd

() I GaTddsh A0 HaEargesh A Hich

(%) YUl HEh

(T) AquEHih feaeLeo.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4369]-206

S.Y. B.Com. EXAMINATION, 2013
BUSINESS ADMINISTRATION
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define joint venture. Explain its merits and demerits. [16]
2. Define management. Enumerate its characteristics. [16]
Or

State the primary and secondary factors affecting the plant

location. [16]
3. (A) Explain merits of business objectives. [8]
(B) Explain factors affecting productivity. [8]
Or
(A) State the legal requirements for starting a business. [8]
(B) State the features of globalization. [8]

P.T.O.



4, Define liberalization. State the effects of liberalization on Indian

economy. [16]
5. Write short notes on (any four) : [16]

(1) Industrial sickness

(2) Co-operative

(3) Features of environment

(4) Concept of social responsibility

(5) Types of business entities

(6) ISO 9000.

(TS TUIR)

q% : A\ A TEHUT T ;80

ol :— () §d YT diefau sEvds SR
(ii) ISElheld o YA YU 7O SRiferdr.
({ii) TeUEE HS TUST YUl TR,

1.  GgH Jicdacl §WEl e 9rd ™ REe-dle TR & [16]
2, AT ARl G AT U T . [16]
ferar

g FAAREdeR g9d qrevr fafay wew @Em. [16]
3. (31) FIEEE I WL F 8]
(9) IUGHIR YROTH FHIOW HHh . [8]

[4369]-206

2



fepar

(31) FIHE e KIS IR STHUAT FHFQYRN o6l T H. [§]

(9) TfqehteRo=l Sf¥TSSl | [8]

4, TS TN HE ? SCRIGOT IRAE sidfeeedada akomy 9rm. [16]

5. dield fou fogr (FvER |9ar) [16]
(1) SN SR
(2) FERRr e

(8) U™ YA 30

(4) HOEEET GHIS  Seeer

(5) HIEE HEE YER

(6) IO YUllell=l I9FeRidl  (SAE.TH.3. 9000)

[4369]-206 3



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [43691-207

S.Y. B.Com. EXAMINATION, 2013
BANKING AND FINANCE
Special Paper 1
(Indian Banking System)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. What do you mean by Bank Nationalisation ? Discuss the arguments

for and against Nationalisation of Banks in India. [16]
2. Explain the structure of Banking System in India. [16]
Or

Explain the performance and progress of Private Banks in India.

3. (A) State the performance of Regional Rural Banks. [8]
(B) State the functions of Urban Co-operative Credit Society. [8]
Or

(A) State the recommendations of Narsimham Committee—I (1991). [8]

(B) State the functions of primary agriculture credit co-operative

societies. [8]

P.T.O.



4, Explain the functions of Reserve Bank of India. [16]

5. Write short notes on (any fwo) : [16]
(1) District Central Co-operative Banks
(2) Management of Non-performing Asset
(3) Statutory Liquidity Ratio (SLR)

(4) Principles of Co-operation.

(TS wR)
q% : o\ A TEHOT OT ;80
g :— (i) §d W afer smed.
(ii) IoERerd o qul TU Ieifea.

({ii) TeUEE HS TUST YUl TR,

1. dHd USRI WUN HE 7 IRAdA A ASSTASRIOMAT Ao o

faQiet =S geKilae T & [16]

2, YRAHA S YOSt & TR [16]
fenar

TRATA @S dehel SRR d WAl s 6. [16]
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3. (1) YRl UMY Sl MR G (8]

() TR Tehil UqEEA=N hrd 9. [8]
ferar

(31) TfEgw |fadi—I (1991) =0 TRTRREt |Em. [8]

(9) WG F TRl JaGLAr= w1 9. [8]

4, A fEed et o Tfoaew fave . [16]

5. 9eRd du four (FveEd @|) e [16]

(1) oo memed desrt o

o n

(2) SdRs S e

(3) Jdufies J@ar TORR (S.L.R.)

(4) YeHNET dd.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4369]-208

S.Y. B.Com. EXAMINATION, 2013
BUSINESS LAWS AND PRACTICES
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Describe the various types of meeting under the Maharashtra

Co-operative Societies Act, 1960. [16]

2. Explain the terms and conditions for registration of co-operative

society under the Maharashtra Co-operative Societies Act, 1960. [16]

Or
Describe the penalties under Maharashtra Agricultural Produce
Marketing (Development and Regulation) Act, 1963. [16]
3. (a) Procedure for receiving amount of Insurance claim. [8]
(b) Advantages of Life Insurance. [8]

Or
(¢) Explain the terms in Marine Insurance Policy. [8]
(b) Explain the basic principles of Life Insurance. [8]

P.T.O.



4, Explain the objectives of Life Insurance Corporation. State its

constitution and powers. [16]

5. Write short notes on (any fwo) : [16]
(1) Explain any four objectives of Multi-state Co-operative Societies
Act, 2002
(2) Duties of the Policyholder
(3) Insurance premium

(4) Fire Insurance Agreement.

(WS ®aia)
q% : o\ A Tepot o1 ¢ 80

M :— (1) T WA SIS IR

ces

(ii) ISEihe SUifdelel YAMENE T TR,

({ii) TeUEE HS TUST YUl TR,

1, U UKl T HEEl, 1960 Idid 9uw fafgy yeR T & [16]

2, TRNIS GehNl TR hIIEl, 1960 3TATd TRl GET Aguidrel SAavdeh STu=

3T oo TRGE! | [16]
feRar

MRS FH1 3cq=1 ©el-fas! (fawm sufor framq) eifufm, 1963 stard

frem=n SeosATeTed ST e gL [16]
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[4369]-208

3. (31 fommm 19 fyesfavart srfusd. 8]
(9) SieAfa=rE HEs. [8]
fepar
(37) A8 famr A YeREE ST WA [8]
(9) e fo=mt qayd 9« 9. 8]
4, Sitoq fom frmmt Sfee T oy fo=t gear enfor ey 4@rm. [16]
5, dewRn fou fog (Rem@ M) [16]
(1) =309 Feh’l UM HEQ, 2002 = wOdE oK 3fEsd =@
(2) fomurert wd=
(3) fomm ==
(4) o fom R



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4369]-209

S.Y. B.Com. EXAMINATION, 2013
CO-OPERATION AND RURAL DEVELOPMENT
Special Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the objectives and functions of multi-state co-operative society.
Give a brief account of progress of multi-state co-operative societies

in India. [16]

2. Explain the provisions of Maharashtra. State Co-operatives Societies
Act, 1960, regarding the registration and management of Co-operative
Society. [16]

Or
State the broad features of Co-operative Societies Act, 1912. Explain

its impact on Co-operative Movement in India. [16]

3. (¢) Explain the scope of co-operation. [8]
(b) Explain the problems of dairy co-operatives in Maharashtra. [8]

P.T.O.



Or
(a) Explain the philosophical and sociological aspect of rural
development. [8]
(b) Explain the views of Mahatma Gandhi regarding social reforms

and rural development. [8]

4, Describe structure of Panchayat Raj System in India. Explain its
role in rural development in India. [16]
5. Write short notes on (any fwo) : [16]
(a) Peoples Participation in Rural Development
(b) Globalization of Indian Economy and Rural Development in
India.
(c) Integrated Rural Development Programme and Rural Development.
(d) Work of Chhatrapati Shahu Maharaj in Rural Development.
(TS EUIR)
q% : o\ A THU T : 80

g — (i) Wd WA A sTRa.

1.

2.

(i) SSeihele &k Y= quf U SFifedm.
({ii) GO ez TUST YAYAIehT UTEl.

g Wb WEEl 3fEse oty i W #U. dRANe 9gied HeshRl

= WA=l AigsTd 3Tee =0 [16]

TERTSE. T Gehll T IS, 1960 =1 Gghil T Al o e

qatl WIel T w0 [16]
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fepar
TEHR] TEAT THIIST, 1912 = 3Bk AfFTo] AT, M YRATNS Fehil ddaiaiio

YqE T FHT. [16]

3. (3) UEhNEl A T H 8]

(9) WHENISSdie g8 Weshil HEr=a |9 T . (8]
feRar

(31) TfHO foehrEr=il diciish o AR oS €5 K. 8]

(&) TETS guren onfor mfqu fasr dedt merem e gete T

EX [8]

4. YRATIS GEdUS] o= &9 9uiq &Y. fadl 9Rddie wfae fasmande

qfHenT €T . [16]

5. ded@ Ja fom (FUERE gF) [16]
(27) wifao fawmEde SmEn 9eun
(9) 9N AR SHIfdehieh ol S0l wRdrdte I foehrm
(%) Uhicder WHI fod wEieA sufor wiHor fas™

(¥) whHu fowMce S0 g WeRS I &

[4369]-209 3



Total No. of Questions—5] [Total No. of Printed Pages—7

Seat
No. [4369]-210
S.Y. B.Com. EXAMINATION, 2013
COST AND WORKS ACCOUNTING
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. (A) Fill in the blanks :

[5]

(i) Cost of sales is arrived by adding..............ccceuunn....... overheads

to cost of production.

(i) Milk used in dairy products is the example of...................

materials.

(iiz) In goods transport company, per tonne

Deeeeeeeeeeeeereeaeaans cost unit.

per kilometre is

P.T.O.



(TU) e, is the level of stock below which stock of

material should never be allowed to fall.

(v) Efficient time booking helps to minimise...................... .

(B) State whether the following statements are True or False : [5]

(i) A prosperous business does not need a costing system.

(i) A cost unit is a unit of measurement of efficiency.

(iiz) Low value and high volume of items fall in ‘C’ category

under ABC Analysis.

(iv) Piece rate system of Wage Payment does not ensure minimum

wages of workers.

(v) Merit rating is used to determine the fair rate of pay

for different workers on the basis of their capacity.

2. What is Cost ? Explain the different elements of cost. [15]

Or

What is meant by Material Control ? What are its objectives ? [15]
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(2)

(i1)

(ii1)

(iv)

(v)

4. (A)

[4369]-210

Write short notes on (any three) :

Classification and codification of materials

Time Wage System

Halsey Premium Plan

Perpetual Inventory System

Merit Rating.

[15]

The accounts of Artistic Manufacturing Ltd. for the year ended

31st December, 2011 show the following :

Particulars Amount
Rs.

Stock of Materials (1-1-2011) 67,200
Materials Purchased 2,59,000
Drawing Office Salaries 9,100
General Office Salaries 17,000
Preliminary Expenses 9,100
Traveller’'s Salaries and Commission 10,780
3 P.T.O.



[4369]-210

Depreciation on Office Furniture

Rent, Rates, Taxes and Insurance (Factory)

Productive Wages

General Expenses

Gas and Water (Factory)

Travelling Expenses

Sales

Manager’s Salary (2/3 Factory, 1/3 Office)

Depreciation on Plant, Machinery and Tools

Trade Discount

Repairs of Plants, Machinery and Tools

Carriage Outward

Direct Expenses

Interest on bank loan

Rent, Rates, Taxes and Insurance (office)

420

11,900

1,76,400

4,760

1,680

2,940

6,45,540

15,000

9,100

4,060

6,230

6,020

10,010

5,000

2,800



Income Tax 8,000

Gas and Water (Office) 560

Stock of Materials (31-12-2011) 87,920

(B)

[4369]-210

Prepare a Cost-sheet of Artistic Manufacturing Ltd. [15]

Calculate the earning of P and Q under Taylor’s Differential

Piece Rate System, from the following information : [5]
Standard production : 28 units per hour

Factory day : 8 hours

Normal time rate : Rs. 11.20 per hour

Differentials to be applied : 80% of piece rate below standard,
120% of piece rate at or above

standard.

Mr. P produces 200 units a day

Mr. Q produces 240 units a day.

5 P.T.O.



5. (A)

The following particulars have been extracted in respect of

material x. Prepare Store Ledger Account showing the receipts

and issues, pricing the materials issued on the basis of Weighted

Average Method :

[10]

Date

Particulars

3rd Oct., 2011
13th Oct., 2011

23rd Oct., 2011

5th Oct., 2011
15th Oct., 2011

25th Oct., 2011

Receipts
Purchased 500 units @ Rs
Purchased 900 units @ Rs
Purchased 600 units @ Rs
Issues

Issued 400 units
Issued 600

units

Issued 600 units

. 4=00 per unit
. 4=30 per unit

. 3=80 per unit

(B)

[4369]-210

Compute the materials turnover

ratio for materials M and N

and comment upon the results : [10]
Particulars Material M Material N
Opening Stock 20,000 18,000
Purchase during the year 1,04,000 54,000
Closing stock 12,000 22,000




(B)

[4369]-210

Or

Standard time allotted for a job is 40 hours and the rate
per hour is Rs. 2.00 plus a dearness allowance @ 50 paise

per hour worked.

The Actual time taken by a worker is 30 hours.

Calculate the earnings under (a) Halsey Plan and () Rowan

Plan. [10]



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4369]-212

S.Y. B.Com. EXAMINATION, 2013
BUSINESS ENTREPRENEURSHIP
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is unemployment ? State the causes and remedies to solve

the problem of unemployment in India. [16]

2. Explain entrepreneurial career of Mr. Azim Premji. [16]
Or

Explain in detail various social responsibilities. [16]

3. (A) Distinguish between ‘Individual and Group’ entrepreneurship. [8]

(B) State the problems in ‘Business Process Outsourcing’. [8]
Or
(A) State various types of service industry. [8]

(B) State the various remedies for Entrepreneurship Development

in India. [8]
P.T.O.



4, Give definition, importance and problems of Self Help Groups. [16]

5. Write short notes on (any fwo) : [16]
(1) Franchising
(2) Business Ethics
(3) Kikinada Experiment

(4) Do’s and Don’ts of Innovation.

(W& T UIR)

q% : o\ A T TOT ;80
o :— (i) §d Yz Hiefau ofewds .
(i) SoEHSd F® YU U guifedr.

LN fa

1. WO WOS $@ 7 YRAWE SSFRET SR0 9F o Sefama 3™

I [16]

2, oft TENH UHSt AN SSUNRT hfhe TR . [16]
ferar

eIl fafay gEisies SoEe-al il W . [16]

3, (31) AfFAd ISRl o Hifteh ScdlSiohdl Il Wik T . [8]

(&) ‘devEiad SgaEfae gfedda’ e W S [8]
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fepar

(37) a1 Fo9Er fafgy g&r | [8]
() YRAd Scdisiehar faemamas) fafay sa g [8]
4, =E HEAdl el SAredl, e d SHEl 9. [16]
5. dieqd four forr (woeE dF) [16]

(1) FIEENYRR

o o

(2) SAEENIR  THIGHT

(3) HIfhATST FAM

o N C

(4) TIAMMHETHE w1 HAS U HET HE 4.
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4369]-213

S.Y. B.Com. EXAMINATION, 2013
MARKETING MANAGEMENT
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Consumer Movement ? Explain the role of Consumer Guidance

Society of India. [16]
2. What is Marketing ? Explain the importance of marketing. [16]
Or

What is Place Mix ? Explain the factors affecting on place mix. [16]

3. (A) Explain the need and importance of consumer education. [8]

(B) Explain the scope of Agricultural Marketing. [8]
Or
(A) Explain the marketing strategies for services. [8]

(B) Explain the features of effective Customer Relationship

Management (CRM). [8]
P.T.O.



4, What is Marketing Communication ? Explain promotion as a component

in Marketing Communication. [16]

5. Write short notes on (any fwo) : [16]
(1) Scope of Ethics in Marketing
(2) Price Mix
(3) Difficulties in Customer Relationship Management (CRM)

(4) Factors affecting demand of Agro Products.

(A0S ®UI)
q% : o\ A TEHUT TOT ;80
T :— (i) §d gz grefau e e
(i) SvEHe @i geAE qol o evifedm.

1. UeH Toodd TS wE 7 HRAGIA Uk HEGYH eI ffier T

. [16]

2, fgque WU &I ? 99U "ed W &R [16]
fepar

Torel/faqor g wuS & ? We/faaier HeeR 9o R TeEe TR

. [16]

3, (31) Uesh Yol RS oTfUl He TR Rl [8]

(F) I fauoEr] 2t T & [8]
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fepar
(31) Yoo fIIuFEMEREE SEUE TR . [8]

(9) <Al Ulesh HeY HORIIIal iy e &L [8]

4, foum 999 "N @@ ? fowd gE f9uTe aeEEn U owes W

EX [16]
5. 9eRd foor foar (@ @m) [16]

(1) fgder=n fagoAda =)

2) foua fas

(3) TURH ToY HATAYAMEA AUl

(4) IIHIATAT | GHIfad iR o,
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4369]-214

S.Y. B.Com. EXAMINATION, 2013
AGRICULTURAL AND INDUSTRIAL ECONOMICS
Special Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. What is Agricultural Economics ? Explain the importance of Agriculture

in Indian Economy. [16]

2. Explain Institutional and Non-Institutional sources of Agricultural
Finance. [16]

Or
What is optimum firm ? Explain the determinants of optimum size

of firm. [16]

3. (A) Explain the causes of low productivity of Indian Agriculture. [§]
(B) Explain the concept of Plant, Firm and Industry. [8]
Or
(A) Explain the effects of subsidies on Agricultural Prices. [§]
(B) Explain Alfred Weber’s theory of Industrial Location. [8]

P.T.O.



4, What is Industrial Productivity ? Explain the problems in measurement

of Industrial productivity. [16]

5. Write short notes on (any fwo) : [16]
(a) Measures to improve the agricultural productivity.
(b) Defects of Agricultural marketing.
(¢c) Importance of Industrial Economics.

(d) Factors affecting the location of Industries.

(W& T UIeR)
d9% : o a™ TeHUT 0T ;80
o :— (i) §d Yz Hiefau ofevds .
(i) wwEE #i% TS g o e
(iii) RIS Hed SUSH YTA9rAhl Tl

1. FHE AMWTH BN HE 7 IRAT ATHTEIAA e Hewd o HA. [16]

2. F fou Rauw e 9 fOR-TeeTEE @ R & [16]
feRar

T SN Ul i ? SUNEEY 9aw SThRAM Hfv=a Som =2

T h [16]

3. (3) YR el IcAhdl hHI FAHUIME] hRO TS K. [8]

(F) GIA, JATEE SN JEN A Hehoudl T . [8]

[4369]-214 2



fepar

(37) AT feAdelid STEHE URomd T & [8]

o n o

(9) ke Ja) Il At e ffy=d=n faga s . [8]

4,  3ENfiTeh 3IAIChdl W=UNS hrE 7 SiENfTR IOEHdl "I 9HET TS

EX [16]

5. digRm dw feR (SR 9F) [16]
(31) Tl SRehdl GUNTIER UM
(F) g s eaasdda .
(%) 3irEifes srefmee Hed.
() ofEnfe oM ffveder 9Rom oM w2,
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Total No.

of Questions—4] [Total No. of Printed Pages—4

Seat
No.

[4369]-215

S.Y. B.Com. EXAMINATION, 2013

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Paper 1
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i)
(i1)

All questions are compulsory.

Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

(D
(2)
3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11)
(12)

(13)

Define Defence Economics.

What
Write
What
What
Write

do you mean by economic problem of Defence ?
meaning of pre-war preparation.

are the methods of War Finance ?

do you mean by ‘Transfer of Technology’ ?

the meaning of Defence Research.

Define Defence Budget.

State the meaning of security perspectives.

Define Threat Perception.

What

do you mean by ‘Political Ideology’ ?

Define Leadership.

What

is zero budgeting ?

Define Defence Policy.

P.T.O.



2. Answer in 50 words each (any two) : [10]
(1) Explain merits of peacetime economy.
(2) Discuss mobilization of Resources for Defence.
(3) Describe the role of private sector in Defence.

(4) Explain the role of National Capability in Security Expenditure.

3. Answer in 180 words each (any two) : [20]
(1) Write in short the importance of zero base budgeting.
(2) Explain the importance of defence planning.
(3) Discuss the role of leadership in Defence Expenditure.
(4) Explain causes of increasing Defence Expenditure.
4, Answer in 300 words each (any {wo) : [30]
(1) Do you think Defence expenditure is productive ?
Justify.
(2) Discuss relationship between economy and defence.
(3) Explain salient features of Indian Economy.

(4) Analyse India’s Defence Spending since 1990.

(W& T UIR)

q% : o\ A TR T : 80
o :— (i) |d WA Hisfau ofemds .
(i) Sedikele 3k qu o i,

1. T D T[Sk O (Fuer /) e [20]

(1) ‘‘fewg soiAfHem’’ =Or/em <.

(2) “‘wWygu @ oNfdew wHEn oM. Aren Ad g &
[4369]-215 2



(3) JgYadIt ®US ®wE ?

(4) 9 ®EAMRTA Ugdl THE H

(5) TRM TEMU ®WUS & ?

(6) & TEeE=n o1 foer

(7) ERU ICNOAR AT I

(8) Torglidt wHUsRie=n @ g .

(9) ‘YRt Hehoudl RS <.

(10) TSy foERY WS & ?

1"

(1) “Aqa’’ e < .

(12) o0 SR =oS % ?

(13) ‘EReIU YRU’ ATl <.

2. TR 50 I Sl o (PR dF) [10]
(1) IAAERTOM  STfeTawds U TR L

(2) “'ERYUEIET WeAEYaEl faEEar’’ 9=

(3) WY IOCAMS @A &= (JUFEear=i) ofFesr auF .

(4) e @Al HeWld TR gHal gfHeT T A4

3. TR 150 I<d SN =N (KU dF) [20]

(1) I[A UG Sfdhed™ Hed dledE fom© .

(2) WU SN Hed TR S

(3) WU Tdl Geuid Ageren gfysdded ==t H

(4) U EE dRUIET hRU TR A

[4369]-215 3 P.T.O.



4. W 300 TRM ISW M (FE ) [30]
(1) WEeRle @9 B IAQH 38 ™ SUuE ded & 2 = <l
(2) SifHER STU WU Ao FadEEd ==l .
(3) YR AdHaEE™ YHE TUIHH TR FH.

(4) 1990 FAET YRAMET TYUMENG ©< foRouu .

[4369]-215 4



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4369]-216

S.Y. B.Com. EXAMINATION, 2013
INSURANCE, TRANSPORT AND TOURISM
Paper 1
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain different types of Life Insurance Policies. [16]

2. Define General Insurance. Explain the scope and principles of General
Insurance. [16]
Or

Explain the working of Life Insurance Business in India.

3. (a) Explain the basic principles of Insurance. [8]
(b) Write a brief note on tour operator. [8]
Or
(a) Explain the regulations of Insurance Business in India. [§]
(b) Explain the concept of educational tourism. [8]
4, Explain different types of tours. [16]

P.T.O.



5. Answer the following questions (any two) : [16]

(a) Write a note on Geographical Tourism.

(b) State the impact of tourism on Indian Economy.

(c) Explain the essentials of tour planning.

(d) Explain the types of tourism accommodation.

(TS EUIR)
q% : dF A THU T : 80
o :— (i) |d YA Hiefau e e
(i) SoEHheld 3 qo IO Tifaan.

1. YA O e YR T H. [16]

2. TR fo=E e 9. Gauere fomrel St 9 ded T . [16]
ferar
ARATe A AR SREYuel ¥ &

3. (3 fo=El godo W= &7 [8]

(9) AT TSR diesrd feu fogr [8]
feRar

(31) 9rRddie fam =auEmE fam s+ [8]

(@) Feafors WA Fhedd TR . [8]
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4. I fafgy gwR T S [16]

5. Wolo WA S foRl (SR aq ) [16]
(37) 4ol qdeer v fomr.
(§) URAE TfemaXder YA | YMTEd Wi

~

(&) IJE1 AR AdTdshdl W &

(B) TWhed o9 =ae¥" YR W &
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Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4369]-217

S.Y. B.Com. EXAMINATION, 2013
COMPUTER APPLICATION
Paper 1
(Visual Basic)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherever necessary.

1. (@A)

Answer the following questions (any four) : [8]
(1) Differentiate between Textbox and Label control in V.B.
(2) What do you mean by Function ?

(3) List at least four events used in V.B.

(4) List the different types of DSN.

(5) What is the purpose of Status Bar in V.B. ?

P.T.O.



(B) Give the output of the following section of code (any two) : [8]
(1) Dim str as string
Dim i,x as Integer
Private Sub Command_Click( )
Str="Maharashtra”
i=len(str)
x=1
Do while i>0
Print Mid(str,x,1)
x=x+4
i=i-1
loop
End Sub
(2) Dim mul, i as Integer
Private Sub Command_Click( )

For 1 = 2 to 10

mul =1 * i
Print mul
Next 1
End Sub
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(3) Dim m as Integer
Private Sub Command_Click( )
For m=30 to 10 step - 2
Print m
Next

End Sub

2. Attempt any o of the following : [16]

(1) Explain in detail the use and working of Progress bar in V.B.

(2) Explain the steps to connect with Access Database using ADODC
Control.

(3) Explain in detail the properties of Common Dialog Box.

3. (A) Write purpose and syntax of the following (any four) : [8]
(1) Input Box
(2) Image Box
(3) Timer Control
(4) Check Box
(5) Command Button

(B) Write properties and methods of the following (any two) : [8]

(1) Picture Box
(2) Shape control

(3) Option button
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(D
(2)
3)

(1)

(2)

3)

[4369]-217

Attempt any #fwwo of the following ; [16]

What is Variable ? Explain the scope of variable.
Explain in detail the steps to add menu at run time in V.B.

Write a note on Date & Time Functions.

Attempt any #fwwo of the following : [16]

Differentiate between While and Do-While loop statements with
the suitable example.

What is Data Report ? Explain the steps to create a report
in V.B.

Design a form in V.B. to calculate total amount of Medical
Bill. Display jfour labels for item names, four text boxes for
reading item quantity and four text boxes for item rate. Write

a program to calculate item amount and net amount.



Total No. of Questions—7] [Total No. of Printed Pages—2

Seat

No. [4369]-218

S.Y. B.Com. EXAMINATION, 2013
(Vocational Course)
COMPUTER APPLICATIONS
COURSE 111

(RDBMS)
(Theory)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) Question 1 is compulsory and solve any five from the remaining

questions.

(ii) Draw a neat-labelled diagrams wherever necessary.

(iiz) Figures to the right indicate full marks.
1. Explain in brief the components of DBMS. [10]

2. Explain in brief the following with syntax and example : [6]
(a) Create Table
(b) Select Statement

3. Explain in brief the concept of Normalization upto third Normal

Form. [6]

P.T.O.



4, Explain the following functions :
(@)  Substr()
(b)  Count()

5. Explain in brief the following :
(a¢) DML

(b) Foreign Key

6. Explain the following with examples :

(a) Like Operator

(b) Relational Operators

[4369]-218 2
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[6]

[6]

Explain in brief Structured Query Language and its features ? [6]



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [43691-220

S.Y. B.Com. EXAMINATION, 2013
(Vocational Course)
TAX PROCEDURE AND PRACTICES
PAPER III
(Income Tax)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any five) : [10]
(i) What is the charge of Income Tax ?
(ii) Explain ‘Previous Year’ and Assessment Year.
(i) What is meant by ‘Return of Loss’ ?
(iv) When does ‘Gift received’ form part of income ?

(v) What is meant by ‘Revision’ ?

P.T.O.



(vi) What is meant by CII ?

(vii) What is meant by H.U.F. ?

2. Answer in 50 words each (any two) : [8]
(1) What are rules for determining residential status of H.U.F.
and company ?
(2) What is meant by set-off or carry forward of losses ?
(3) Discuss deduction available u/s 80C.

(4) What is meant by ‘Best Judgment Assessment’ ?

3. Answer in 150 words each (any fwo) : [10]
(1) Discuss provisions for T.D.S. What are the rates of
T.D.S. ?
(2)  Distinguish between short-term capital gains and long-term capital
gains.
(3) What is ‘Appeal’ ? Discuss provisions for 1st Appeal.

(4) Discuss powers and duties of CBDT.

4, What are the types of returns ? Is it compulsory to file returns

under LT. Act. [12]
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Or
Mr. Shashikant running a shop submits the Profit & Loss A/c for
the year ended 31/03/2012. You are required to compute his income

from business and gross total income and tax liability :

Profit & Loss Alc

4 4
To Trade Exp. 450 By Gross Profit 1,19,400
To Printing stationery 2,200 By Dividends 3,556

To Rent, Rates, Taxes 1,400 By Interest on Security 3,184

To Household Exp. 1,850 By Rent of House 1,20,000
To Municipal Tax (House) 1,000
To Life Insurance 1,500
To Income Tax 2,500
To Wealth Tax 1,500
To Repairs 5,600
To Donation 1,000
To Net Profit 2,27,140
2,46,140 2,46,140

Other informations :

(1) He has not claimed depreciation of < 5,000.

(2) Repairs include I 4,000 expenses for house

(3) Donation is given to charitable trust having 80G -certificate

(4) Dividend is from Indian Co.
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Total No. of Questions—7] [Total No. of Printed Pages—2

Seat

No. [4369]-221

S.Y. B.Com. EXAMINATION, 2013

(Vocational Course)

COMPUTER APPLICATIONS
COURSE 1V
(Software Engineering)
(Theory)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Question No. 1 is compulsory and solve any five from rest

of the questions.

(i1) Draw neat-labelled diagrams wherever necessary.

(iizr) Figures to the right indicate full marks.

1. What is E-R Diagram ? State which symbols are used for E-R Diagram
and draw E-R diagram for Payroll in which employee, organization

and bank are entities. [10]
2. What is Flow-charting ? Give example. [6]

3. Explain what is normalization and the different forms of

Normalisation. [6]

P.T.O.



4, Explain the following :
(a) Integrated System.
(b) Feasibility study.

5. Explain Waterfall Model with diagram.

6. Who is System Analyst ? State main jobs of system analyst.

7. Explain Decision Tree and Decision Table.

[4369]-221 2
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Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4369]-222

S.Y. B.Com. EXAMINATION, 2013
ADVERTISEMENT, SALES PROMOTION AND SALES MANAGEMENT
Paper IV (Vocational)

(Personal Selling and Salesmanship)

(2008 Pattern)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. What do you mean by ‘Personal Selling’ ? Explain advantages and

limitations of personal selling. [12]
Or

State and explain qualities of salesperson for successful

salesmanship. [12]

2. Write short notes on :
(a) AIDA
(b) Problems in selling. [12]
Or

Define ‘Buying Motives’. Explain consumer buying motives in detail. [12]

P.T.O.



3. Write short notes (any fwo) :

(D)
(2)
3)

(4)

[4369]-222

Documents prepared by salesperson
Methods of prospecting
Types of customers

Importance of retail marketing.

[16]



Total No.

of Questions—4] [Total No. of Printed Pages—3

Seat
No.

[4369]-223

S.Y. B.Com. EXAMINATION, 2013
TAX PROCEDURE AND PRACTICES
Paper IV (Vocational)
(Wealth Tax, Service Tax and Central Excise)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) : [10]

(1)

(2)

(3)

(4)

How is the net wealth computed under Wealth Tax Act ?
Whose net wealth is chargeable under W.T. Act ?

Whether Service Tax is Direct or Indirect Tax ? How ? On

what Service Tax is charged ?

State the time limit for application for registration under Service
Tax ? To whom application to be made ? In which form No. ?

P.T.O.



(5)

(6)

(7)

(2)

[4369]-223

Define “Excisable Goods” ?

What is the ‘taxable event’ for excise duty under Excise

Act ?

Define “Manufacture”.

2. Answer in 50 words each (any two) : [8]
(¢) Explain in brief the kinds of excise duty ?
(b) What do you mean by “Self Removal Procedure” under Excise
Law ?
(c) State the various documents to be accompanied along with the
application for registration under Service Tax Act ?
(d) Explain in brief the various exempted assets under Section 5
of Wealth Tax Act ?
3. Answer in 150 words each (any two) : [10]

Give the distinction between Central Excise and :
(@) Sales Tax
(b) Octroi duty,

(c) State Excise duty.



(ii) What are the initial exemptions and general exemptions under

Service Tax Act ?

(zi1) State the various deemed assets under Section 4 of Wealth

Tax Act ?

(iv) Write note on HSN system under Central Excise Tariff Act,

1985.

4. Answer in 500 words (any one) : [12]

(a) Describe the basic “routine procedure” to be followed by the

assesee under Central Excise Law ?

(b) What is the basis of charge of Service Tax under the Service
Tax Act ? And also explain the provisions in respect of classification,

valuation and payment of service tax ?
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